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BRI B = 1 818, 303
PEARR R VESEE = 1
e i e ML s km 0.18
PR e B MR E km 0.86
THUG - ARSI A R &) km 0.28
TG - AEOVRE R A GREE &) km 0.28
THUG - ARpAME SR DB B E) km 0.18
HiE ) & = 1 10, 887, 147
SEAMER VL = 1
FEAMBIE 1/500 yilee 1.19
THG - ARSI ISR A (PR E) km 0.28
TH - AR R IR A G BIER) Padeet 2.93
5« ARG IEHE D (PSR E) km 0.18
THUG - ARpAMELSHEDB CEm X {ER) 7 ot 2.31
FAH RS ES 1
JAHGHIE B S 1
BEARNE AR 7 ot 5.24
BESGHIR MBS AN A Jind 5.24
BEAGHIE B RUHIE M QMR Jind 5.24
BEARAE SR E 77t 5.24
BRI A B AL AT A B oi 5.24
JAHSERIXMERR  hifEEH A B ot 5.24
JAH SR BAERE SR U B D VERR Bt 5.24
JHHFZRIBAERL R AR AR 77t 5.24
HEFFRA M D¥RE 7 ot 5.24
HEFIFAA MO B KR 5 7m 5.24
HERGAE OB REORE 7t 5.24
MEFGHA  FIRE OMERTE (40) 75t 5.24
HeFRAT  Hn 5 X D VER Jind 5.24
FAE S A 1 270, 151
LB - ARAVETIGHIE A GlBEESE (488 (KBHY) km 0.28
TG - ARV TIGHE R GlBhAE AR (488 (KEEH DY) km 0.18
MY FIAHH = 1 314, 900
et = 1
ARiRE - B - AR B2\ 1 9, 600
it - B - 1EiE GTAYE) = 1
M ERE AEE - Y - EIAE 2V 1
BhRH = 1 7,949, 899
it N 1 20, 250, 000




